ECEG 497	Electronics II	Spring 2023

Selected Answers to HW #1



Remember to explain all answers in your solutions. You will not receive credit for merely repeating an answer given here. When an answer is not given below, it is either because the solution is trivial or because disclosure of the answer would give away too much of the solution to the problem.

Although significant effort has been made to ensure that there are no errors in the answers below, some might nevertheless appear. Please let me know as soon as possible if you discover an apparent error.

1.	L = 10 H: C = 840 pF

2.	L = 420 nH; C = 11 pF

3.	C = 1.6 nF; L = 40 nH; actual Zin = 28 – j3.5 W

4.	C = 18 pF; L = 7.2 mH; PL = 8.6 W; loss = 0.65 dB




